Asstt. Agriculture Officer, 2015, Paper 2 Exam Date: 29.04.2018

Ques # 1 (English)
Standard size of Agrometology Observatory is -

A) 120’ x 100"
B) 140' x 100"
C) 160’ x 120'
D) 180 x 120"

Ques # 1 (Hindi)
F¥ Ftaer deerrar F1 AF FFR AT e -

A) 120 T x 100 TT

B) 140 € x 100 §T

C) 160 $T x 120 F€
S S

D) 180§ x 120 T

Ques # 2 (English)

Harmful solar radiation absorbed by ozone layer in the earth's atmoshere is :
A) Voilet rays

B) Ultra voilet rays

C) Red rays

D) Infrared rays

Ques # 2 (Hindi)

g @R AT S e R garr sraefia #3 foar sarg:
INKEIGIRER ]

B) WRIS9T=iT fohgor

C) orer fopot

D) 37a¥erd faeor

Ques # 3 (English)
Which chemical is used as defoliant to improve boll opening in cotton?

A) Thiadiazuron 100g/ha
B) NAA 30g/ ha

C) Colchicine 10g/ ha
D) TGA 509/ ha




Ques # 3 (Hindi)
FUTH # 313 Gorat 1 BT Y ge 8 Teal B AR & o w7 a1 e sm A aa 2

A) UTATSTAT S[UeT 100 ITH/ ¢
B) TA.U.U. 30 ATH/ §.

C) rerdidleT 10 ITH/ g.

D) &1.5i.T. 50 ATH/ B,

Ques # 4 (English)
""Madhuri' is an improved cultivar of which type of maize crop?

A) Quality Protein corn
B) Baby corn

C) Pop corn

D) Sweet corn

Ques # 4 (Hindi)
" AT " HFHT F R got Y 3o freT 87

A) FaTferel WIETT Hlal
B) S&T et
C) 9Iq lel
D) FIe Flel

Ques # 5 (English)
Crop logging is a method of :

A) Soil fertility evaluation

B) Plan for assessing requirement of nutrients for yield maximization.
C) Assessing crop damage

D) Testing suitability of fertilizer

Ques # 5 (Hindi)
wEd dlfder v R A e g, o

A\) FET 3aTehcll hl FHedTehel il o
B) Seuc# YeTdR g UIeh clcdl & TefiRoT &l faeeieh Frofell S+l &

C) el # sdTel &I 3Hieholel A &




D) 3&Reht shT SUYFIT g TRETOT il §

Ques # 6 (English)

Major constituent of sunhemp fibe, which makes it the most suitable indigenous raw material for
currency paper, is:

A) Cellulose

B) Pentosan

C) Lignin

D) Urinic anhydrite

Ques # 6 (Hindi)

HeT$ & 1A FT I FIeT AT TeH ¢ THqF FI0T 3/ FIHT AN FT FRIS To11a HT qa@ 3T St Foam AT
HATAT AT -

A) Begare

B) UscIael

C) ferrfasr

D) g1 TeterssreT

Ques # 7 (English)

The deviation from the mean daily temperature to the minimum threshold temparature of a crop is
termed as:

A) Diurnal variation

B) Heat Unit

C) Temperature gradient

D) Lapse rate

Ques # 7 (Hindi)
& sitaa araATT @ R vOd F RAFaad Sgells aUA & Radd S Fed ¢

N GEECGIE]
B) F AT SIS

C) dTr9&HTe 9doTdl

D) 3fasifd &<

Ques # 8 (English)
The total water resources available through annual precipitation in India is estimated to be:



A) 5320 Billion cubic meter (BCM)
B) 4000 BCM
C) 1800 BCM
D) 1700 BCM

Ques # 8 (Hindi)

HIT A I9T 1T GART Fel STel HHTEA Y IrTenTfrer uerstran
A) 5320 . E.TH.

B) 4000 Y. €I.TA.

C) 1800 sT. HI.TH.
D) 1700 &Y. &T.TH.

Ques # 9 (English)

Individual crop has its minimum, optimum and maximum temperature for growth and development is
called as:

A) Temperature gradient

B) Required temperatures

C) Cardinal temperatures

D) Diurnal variation in temperatures

Ques # 9 (Hindi)
YeAF FHA I TGAR T4 AT I ~qAGH, $CHA YT Sodad d9A uila 8, forwe Fga -

A) dI9HATeT JquTdl

B) SI& dTIHT

C) HEcaquT ATIHT

D) &fae uRafda aras=

Ques # 10 (English)

Simultaneous use of two sources of water namely surface and underground water, to irrigate a piece of
land is called as-

A) Consumptive use of water

B) Seasonal consumptive use of water

C) Conjunctive use of water

D) Total crop water requirement

Ques # 10 (Hindi)



Telg T spareffar srer At Wt fArerat suer #T Wa i RS 3 A Fad o8-
A) STeT ITHET

B) HIGHT STel 3UHTIT

C) AT STel STHAT

D) Fel BT ITaRIAH STel

Ques # 11 (English)

Amongst cereals, the grains of which crop possess the highest fat content?

A) Pearl millet
B) Sorghum
C) Wheat

D) Barley

Ques # 11 (Hindi)
HATST T FlH B & el H FIH A AET A 0T 9 AT §

A) SToRT
B) AR

C) g

D) Sit

Ques # 12 (English)

Name multi-cut cultivar of forage sorghum-

A) Pusa chari 6

B) Rajasthan chari 2
C) SSG 59-3

D) HC 308

Ques # 12 (Hindi)
B IR ¥ SAR 1 S HeTs el Thes o1 =11 -

A) qaT =T -6
B) ST TR 2
C) TH.UH.S. 59.3
D) Ta.4T. 308



Ques # 13 (English)

Mustard oil cake is unpalatable due to presence of-
A) Sinirgin

B) Carotenoides

C) Selenium
D) Magnesium

Ques # 13 (Hindi)
AT $T ol T IEATESE Fet HT THE FROT 3HA IRAT ST JTelT e &-

A) RS
B) aifesars
C) Tl aH

D) ARs

Ques # 14 (English)

Indian Institute of spices Research is situated at -
A) Ajmer

B) Anand

C) Calicut
D) New Delhi

Ques # 14 (Hindi)
A) IHTHT

B) 3Teleg

C) Fleildhe

D) 718 el

Ques # 15 (English)

Which variety of sesame possesses quardri carpelletum capsule?

A) RT 46

B) RT 125
C) RT 346
D) RT 351



Ques # 15 (Hindi)
faer Y a8 frer foraa Aot wiorat serchid?

A) IS 46

B) 3R, €. 125
C) HR. 2T 346
D) 3R.Er. 351

Ques # 16 (English)

Chromosome number (2n) in american cotton (G. hirsutum) is-
A) 16

B) 26

C) 32

D) 52

Ques # 16 (Hindi)
AR Furd (. RIHEH) H IORLT T TEAT (2n) 9TE ST 8-

A) 16
B) 26
C) 32
D) 52

Ques # 17 (English)

Sharbati sonora was produced by treating sonora - 64 with-
A) Alpha rays

B) Beta rays

C) Gamma rays
D) X - rays

Ques # 17 (Hindi)
RTAY TIART, BYART -64 FY ITATRT FF ScdeeT [T AT -

A) 37T fohor
B) ster feheor

C) I foRor
D) Terg fohvor



Ques # 18 (English)

The ratio of amount of water stored in the rool zone of plants to the amount of irrigation water delivered
to the field is known as

A) Water use efficiency

B) Water Application efficiency

C) Water storage efficiency

D) Water Distribution efficiency

Ques # 18 (Hindi)
9 & T3 &1 Y FeaT F SATAT SteT Y AT U1 W # o 7 FATTE Sre7 Y AT & T H FEd o-

A) STeT 3T G&Tar
B) & faTg STet gt
C) ST STeT gata
D) STl faaRoT gatar

Ques # 19 (English)

Suitable example of reflectant type of anti- transpirant is -
A) Kaolin

B) Phenyl mercuric acetate

C) Hexadeconol
D) Maleic hydrazide

Ques # 19 (Hindi)
WA fFEA FT Tedl- TRUTITE FT 3ETET &-

INEZICIGH

B) fthalrarer #ReFgReh THiee
C) gFraTSehisiter

D) Afereh gT5greiss

Ques # 20 (English)
Flow rate of irrigation water one cumec-day equals to quantity of water-
A) 6.34 hectare meter

B) 8.64 hectare meter
C) 10.12 hectare meter



D) 14.36 hectare meter

Ques # 20 (Hindi)
far$ St 7 vaTe oF FAF ¢ A oF R 7 freterr et agam|

A) 6.34 g HieX
B) 8.64 gFcaX HieX
C) 10.12 gFcaX HieX
D) 14.36 g aX HIeX

Ques # 21 (English)
Physiological drought is on account of-

A) Annual average rainfall is less than ET

B) Average rainfall is less than normal rainfall
C) Low humidity and high wind velocity

D) Higher osmotic pressure of soil solution

Ques # 21 (Hindi)
Reforaashiaer F@T 81t T T97@ FROT &-

A) a1 3Hrad auTd &1 3.8 § A gl
B) i auTd T ATHT 9T & T glall
C) & ST d &aT ST d9T oI glelT

D) F¥eT & Biel 1 3NTHICH el TR glelt

Ques # 22 (English)

Genetically modified organisms includes incorporation of herbicide resistant trait is available in the crop-

A) Cotton
B) Brinjal
C) Soybean
D) Tobacco

Ques # 22 (Hindi)
Sft. oA, 3. aheten @ fAerarel wferied apor wrafaa F3% fFw wad A 3ueey Far 77

A) T
B) STl



C) QrgTel
DIGESIEY

Ques # 23 (English)

A process by which a virus tranfers genetic material from one bacterium to another is called as-

A) Tranformation
B) Transduction
C) Inversion

D) Conjugation

Ques # 23 (Hindi)

forer wftham & sraerer var RwToy Zan regaifiehy verd va AFdRar & guY 7R # gEaaia
ST §?

A) Scelta

B) IRShHUT

C) gfdeaeT

D) IgIHA

Ques # 24 (English)
A cross between F1 or a segregating generation and one of its parents is termed as

A) Mixed cross

B) Back cross

C) Monohybrid cross
D) Dihybrid cross

Ques # 24 (Hindi)

U 1 AT T qarael! stelsh & HhI0T Hara 1 f3fer :) Fga o
A) fAfSa gaor

B) S HhIOT

C) Thel AT HHT

D) gfaeiey HhIuT

Ques # 25 (English)

Which type of commercially cultivated hybrid will give maximum degree of heterosis and uniform
plants?



A) Single cross hybrid
B) Double cross hybrid
C) Three cross hybrid
D) Top cross hybrid

Ques # 25 (Hindi)
R T aXE FT T AWFaH 2R 31 a7 79 & oief & gwa &2

A) TH hIH T

B) 39l hIF T
C) oot i T
D) ¢fi¥ shre T

Ques # 26 (English)

The method of breeding that gives the maximum opportunity for the breeder to use his/ her skill and
judgment for the selection of plants is?

A) Bulk method

B) Introduction and selection

C) Pedigree method

D) Mass selection

Ques # 26 (Hindi)

goteleT 1 faftr Y sfisT & fAw giut & ga9er & farw srast wlerer it Aok &1 399 F & Qe sifwan
ITET AT &2

A) 91 fafer

B) 9R@ IR TI=T

C) gerael fafer

D) HIH T+

Ques # 27 (English)

A genome that is diploid but contains an extra chromosome, homologous with one of the existing pairs, so
that one kind of chromosome is present in triplicate

A) Trisomic

B) Trioecious

C) Triploidy

D) Triplex




Ques # 27 (Hindi)

TS S St FBealsw & e o srfaRea o 8, St v Aleer S 7 & v ¢, A1fF 0 TER H
oA e AT A A &) T FAT Fgerar 87

A) Pafas

B) Bafras

ORATIES]

D) feueerd

Ques # 28 (English)
Which of the following fertilizer/s is/ are not produced in India

A) DAP

B) Urea

C) Muriate of potash
D) All of these

Ques # 28 (Hindi)
ffad § @ FI9 ¥ 39F F1 3cUET HRT H AT glar g?

A) Srody

B) IRam

C) FIYT 3T Grerer
D) SoTa & THY

Ques # 29 (English)

The upper limit of soil moisture availability for plant growth?

A) Matric Suction

B) Field Capacity

C) Hygroscopic coefficient
D) PWP

Ques # 29 (Hindi)
glet Y fAfer & o A Y 7/ A suestar Fr 398 dar Fr e 2

A) Afeeh e

B) HIes &7 dr



C) BISIEhITI I[uTih

D) dr.seg

Ques # 30 (English)

Flame photometer is used in the detection of which of the following nutrients(s)?

A) Nand P
B) Nand K
C) K
D) P

Ques # 30 (Hindi)
FAH BRI FT 30T Rrafaf@ad # @ Si9 F 99 dcal 7 9dT 9 7 fhar Sar g?

A) TSIl Ud BIEhRY
B) ATScIoleT UT IS RAe
C) grefergs
D) BIFhRA

Ques # 31 (English)
In universal soil loss equation, A=RKLSCP, K denotes

A) Soil conservation practice
B) Soil roughness

C) Soil erodibility

D) None of these

Ques # 31 (Hindi)
AR AL & JHuTeT FHAFIOT, A= RKLSCP, # K 71 3¢ 7 87

A) fAEY @ravor gfshar
B) fAeET e

C) TAEY &1 &7AdT

D) SHH & IS et

Ques # 32 (English)

Reconnaissance soil survey carried out to produce maps for planning in all the states of the country at the
scale of

A) 1:8000



B) 1.12000
C) 1:20000
D) 1:250000

Ques # 32 (Hindi)
&er & Wt TSAT Y FET HT TLETOT FT 3AF T ToA1A ¢ WARTOT T AT H17 F Foram arm -

A) 1:8000
B) 1.12000
C) 1:20000
D) 1:250000

Ques # 33 (English)

Quartz mineral is composed of

A) Aluminium silicate

B) Silicon dioxide

C) Ferro - magnesium silicate
D) Hydrated aluminium silicate

Ques # 33 (Hindi)
FATEST GieroT Y goATde H I I &-

A) TegfAfaaH fafeeshe

B) fafasia ssansass

C) B- AfaTrTs fAferee
D) gT$3¢s UegfATaaa Mferehe

Ques # 34 (English)

The headquarter of National centre of organic farming is located at

A) New Delhi
B) Hyderabad
C) Bhopal

D) Ghaziabad

Ques # 34 (Hindi)
T sifas @ Feg AT #-

A) = fEeelr



B) gaXIeTg
C) &HIdTel
D) nfaarere

Ques # 35 (English)
The concept of biodynamic manure was given by

A) Albert Howard

B) Walter Northbourne
C) C.L.Acharya

D) Rudolf Steiner

Ques # 35 (Hindi)
SaerfahY @ie 6 ATUROM F' gfagIfed FI= are §-

A) 37edc glas

B) aTeeX Arddle
C) O.uA. I
D) ¥3Ieth Tealk

Ques # 36 (English)

Which of the following crop is used as indicator crop for the deficiency of nitrogen, phosphorus and zinc?

A) Potato

B) Cauliflower
C) Rice

D) Maize

Ques # 36 (Hindi)

foret F @ Pl wHer F AT, FREGRE TUT SiF F FA et F AT gas voe F w7 3 a1 ST
¥

A) 3T

B) Berdmsfr

C) drael

D) FHeFehl

Ques # 37 (English)



Which of the following Fertilizer is not compatible for using in fertigation with the potassium sulfate?

A) Urea

B) Ammonium nitrate
C) Calcium nitrate

D) Potassium nitrate

Ques # 37 (Hindi)
farafaf@a & & Flor a1 387 MRRTH gebhe F qry wérere & 3wt aa F v sreqma 781 82

A) IRar

B) 3@AII#H A18¢T
C) Hhfcaad asce
D) 9refg+ agce

Ques # 38 (English)

The role of parent material in soil formation is

A) Initially passive and later on active
B) Initially active and later on passive
C) Active
D) Passive

Ques # 38 (Hindi)

Y verdt #1 Har AT # A R-

A) IRES H ATShT T a1 7 |k sifaT
B) YRFH H Afchar T a1, 7 fAfsshar sgfaerr
C) afsha sgfAenr

D) TS sifaen

Ques # 39 (English)

A soil survey undertaken to prepare resource inventory of large areas is called as

A) Reconnaissance soil survey

B) Detailed soil survey

C) Semi- detailed survey

D) Detailed reconnaissance survey

Ques # 39 (Hindi)



U F&T FETOT S 93 &¥1 Y FHTH Y AR F & e R srar 8, Fgenane-

A) EIET HeT FAaToT

B) fa&qel Har adfator

C) 37ec- faedgd Far adaroT
D) fa&qd- <IéY Fer gdaor

Ques # 40 (English)

The optimum row to row and plant to plant spacing for early cabbage is

A) 60 cm x 45 cm
B) 60 cm x 60 cm
C) 45cm x 45 cm
D) 45cm x 30 cm

Ques # 40 (Hindi)
3Tt g et & forw sugerd 9fFa & 9fFa aur o @ o Hr g gl -

A) 60 THT x 45 9#T
B) 60 ¥ x 60 HHY
C) 45 QT x 45 9T
D) 45 THT x 30 THT

Ques # 41 (English)

The seed rate for hybrid capsicum varieties is-

A) 200 - 250 g/ha.
B) 750 - 800 g/ha.
C) 1000 - 1500 g/ha.
D) 2000 - 2500 g/ha.

Ques # 41 (Hindi)
Rrerer A & gae et A AT g @ -

A) 200 - 250 JTH/E.
B) 750 - 80 ITH/G.

C) 1000 - 1500 IATH/g.
D) 2000 - 2500 ITH/g.



Ques # 42 (English)

Indian goose berry belongs to family-

A) Rutaceae

B) Leguminoceae
C) Euphorbiaceae
D) Anacardiaceae

Ques # 42 (Hindi)
e FTF ¢-
A) &HY

B) oR[fA=ET

C) gifaae
D) 3ThISadT

Ques # 43 (English)

Spongy tissue disorder hamper the export of mango variety-

A) Bombay Green
B) Kesar

C) Alphanso

D) Dashehari

Ques # 43 (Hindi)
Tl Faw AR & 3 i frer w1 g o dard, ag §-

A) S5 AT
B) &R

C) 3rewmi=ar
D) gergdr

Ques # 44 (English)

Which one of the following fruit is not a monocotyledonens?
A) Pineapple

B) Papaya

C) Datepalm

D) Banana



Ques # 44 (Hindi)

fArfaf@a # @ slaar v v fie Rw aE 2
A) HeaTArd

B) qddr

C) T

D) &hell

Ques # 45 (English)
Which of the following hormone is used for degreening in citrus?

A) Auxins

B) Cytokinins
C) GA3

D) Ethephon

Ques # 45 (Hindi)

A1Eew Bal & BT & faw fawr F & Flerar g s w1 & amar srarg?
A) 3Faaa

B) Tgcihsiaed

C) w3

D) SU%hlsT

Ques # 46 (English)

Botanically, banana fruit is a -

A) Berry
B) Nut

C) Pome
D) Drupe

Ques # 46 (Hindi)
IAEIfAF T & Fol FT Bl 8-

A) O
B) ¢
C) 9 H



D) g9

Ques # 47 (English)

Early Nantes is an important variety of-

A) Carrot

B) Cauliflower
C) Cabbage
D) Pea

Ques # 47 (Hindi)

3edll Afeew v Ageaqol e §-
A) e

B) Gorameh

C) sigairefr

D) #eX

Ques # 48 (English)
"RATNA' variety of mango is a cross of-

A) Neelum x Dashehri
B) Dashehri x Neelum
C) Alphanso x Sindhu
D) Neelum X Alphonso

Ques # 48 (Hindi)

3T & AT e T & freAt 1 Jaor 87
INGIEEP G

B) G2l x siterd

C) Telhled! x &ty

D) =fTee x Telthl=ar

Ques # 49 (English)

""Puffiness is a physiological disorder of which crop?
A) Tomato

B) Chilli

C) Cauliflower



D) Cabbage

Ques # 49 (Hindi)
"THAE" R HHE HT IIET HIAHT PR 82

A) THT

B) f&=r

C) Petairedr
D) Ucdraneft

Ques # 50 (English)
Diara land cultivation of vegetable is related to -

A) Solanaceous

B) Cucurbitaceae
C) Cole crops

D) Leafy vegetables

Ques # 50 (Hindi)
feamr o1far F e wfcerat i @<t & wafaa 32
A) TAATITH FaT

B) seasia

C) ameft Feii

D) UcdiaR afssran

Ques # 51 (English)

"Pusa Mahak" is a variety of which flower crop-
A) Marigold

B) Tuberose

C) Rose
D) Jasmine

Ques # 51 (Hindi)

QT AGF FIeTH Ferarel Hael HY freT 82
A) dTer

B) IST=ATeTeT



C) Iels
D) g&elr

Ques # 52 (English)

Formal channel of marketing is-

A) Direct sale to consumer

B) Sale in village itself to travelling merchants
C) Sale in nearby market

D) All of these

Ques # 52 (Hindi)
fAqorer &1 st Areaw & -

A) 3UHIEFT I HIET 9TAT

B) EHAeehs SATITRET i ITid H € Sf=r |
C) ASTEIEh! dTTR (HST) H 9T |

D) 548 & @i

Ques # 53 (English)
Which one of the following is not an objective of farm planning.

A) Efficient use of farm resources

B) Help to raise and stablize farm income

C) Give consideration for efficient marketing facilities

D) Analyzing plan for the use of natural resources of the command of the decision maker.

Ques # 53 (Hindi)
et F @ P AT B DT FT 3327 AT 2

A) BTH & HETEET hT FGIATaT

B) W I 31T Sal d U et H TGTAH

C) veTaITel faqurer giaert s e

D) TAd0Tehd & HTASRITHR FTehiceh TATLAT & TGUEHNIT & ATSTeAT hT HHTET el

Ques # 54 (English)
Who is the father of * Modern Theory of Management * ?

A) Henri Fayol



B) Terry
C) Franklin
D) None of these

Ques # 54 (Hindi)

' Ty fa vee Rreaia & S ¢
INEGRR RG]

B) ¢

C) hideret

D) ST & IS =Tel

Ques # 55 (English)

Grouping of two or more than two consumers for a product or service so that their needs are better
served, can be defined as-

A) Group Segment

B) Policy Segment

C) Market Segment

D) None of these

Ques # 55 (Hindi)

Y Icare a1 Aar & @Y AT &1 & HAF Tt F7 TS rad o 37 T TF Ay g ¥ H UG
Y STl 8, FEeTaT 8-

A) T @US

B) fafa @vs

C) STSIR WUg

D) $oTH | IS el

Ques # 56 (English)
The market in which there are few buyers, is termed as-

A) Monopsony market
B) Oligopoly market
C) Monopolistic market
D) Oligopsony market

Ques # 56 (Hindi)



g AR Free aEgai & &l $6 & §&A1 A 91 §, Fgelra 8-
A) T sl
B) eIk

C) THIfUSRIcHD

D) 3eUshdllOehk

Ques # 57 (English)
Who is the present Ex- Officio chairman of NITI Aayog?

A) Amitab Kant
B) Narendra Modi
C) Rajiv Kumar
D) Dinesh Arora

Ques # 57 (Hindi)
FAATST A Ty ATAT & regaT HieT §2

A) ATAATH Fid
B) g ALY

C) Tsllg AR
D) feerer 3RsT

Ques # 58 (English)

In serving total agricuitural credit contribution from different banks in decreasing order is-

A) Rural banks, Co-operative banks, Commercial banks, Private sector banks.
B) Commercial banks, Rural banks, Co-operative banks, Private sector banks.
C) Commercial banks, Co-operative banks, Rural banks, Private sector banks.
D) Co-operative banks, Rural banks, Commercial banks, Private sector banks.

Ques # 58 (Hindi)

Fol FY HOT 3G F 3 Riffiewt It a1 e Sw e guFA A awd
A) ITHOT S, TEhRT dep, aoIcaS S, AT a7 F d&

B) aTfuIfsTeh deh, ATHIOT deh, HghrY sieh, fo¥all 879 & o

C) aiftifcae d, TgrT deh, ATHIOT e, AT 817 & §

D) TgHhRT deh, ATHIUT I, ATfOITGTH soh, ISl 87 & dah



Ques # 59 (English)
Under distress sale, what is the relationship between marketed and marketable surpluses for a farmer?

A) Marketed surplus=0

B) Marketed surplus = Marketable surplus
C) Marketed surplus > Marketable surplus
D) Marketed surplus < Marketable surplus

Ques # 59 (Hindi)
Hahe A [T & ded, T fFarer & AT g 30t f5hr 3o st & fig & Far geasr glar g

A) ST 3ifay = 0

B) STl HTAAY = SR Ao HAY
C) SR ATAAY > TR g Y
D) JTeniRd ATAAY < JTR Ao Ay

Ques # 60 (English)

The point of inflexion in classical production function lies at a point where

A) Marginal Physical Product (MPP) is maximum
B) Average Physical Product (APP) is maximum
C) MPP = APP

D) MPP =0

Ques # 60 (Hindi)
FeATRAhel NSFAA el A AT F7 faeg el ATAT 8, I8 8-

A) ST BYATT AR 3cdTe (TH. O, d) 31fehdA gr
B) & 3irad anRRe 3cure (vdrd) 3iffend# &

C) ST« TaddT = T gt

D) ST THYIGr = 0 &F

Ques # 61 (English)

Which one of the following is the objective of the Commission for Agricultural Costs and Prices (CACP)
?

A) To stabilize agricultural prices

B) To ensure meaningful real income levels to the farmers

To protect the interest of the consumers by providing essential agricultural commodities at reasonable rate

©) through PDS



D) All of these

Ques # 61 (Hindi)

farafaf@a # @ leaar R anra ik qgea sraer (wWodrd) #1327 82

A) P HeT T TR HIAT

B) fehdTeit s |rdeh areciideh 3T Eo Gl TRE shialt

C) WISTH & ATEYH A ITaRTh HIY 3T T 3T X SaRT 3uIFATI o fail v & e
D) 5157 & @i

Ques # 62 (English)
Pradhan Mantri fasal Bima Yogana (PMFBY) was launched in-

A) 2015
B) 2016
C) 2017
D) 2018

Ques # 62 (Hindi)
mmmmaﬁraymgé-

A) 2015
B) 2016
C) 2017
D) 2018

Ques # 63 (English)

The National Agricultural Higher Education Project (NAHEP) was launched by ICAR, New Delhi
through the support of-

A) World Bank

B) Govt of India

C) World Bank and Government of India

D) Government of India and State Govt.

Ques # 63 (Hindi)

R F srTauT TRYE, 78 Reeh gary e # & Rraehr gerar & w8 1 357 e afiaiewn
(U T T §ait) Y Qe Y IEY?

A) faegds
B) HRd THR



C) faea d dUT HRT TIHR

D) #ART TIPR dAT T AIhR

Ques # 64 (English)

The first Krishi Vigyan Kendra, on pilot basis, was established in India at Pondicherry in the year

A) 1966
B) 1970
C) 1974
D) 1978

Ques # 64 (Hindi)
mﬁwﬁaﬁtm@ﬁmaﬁﬁmm#’ﬁﬁaﬁ-

A) 1966
B) 1970
C) 1974
D) 1978

Ques # 65 (English)

In which year, programme on training of rural youth (BPL farmers) for self employment aimed at
providing technical and entrepreneurial skill has been commenced?

A) 1979

B) 1990

C) 2013

D) 2017

Ques # 65 (Hindi)

areftor @faeT dt.dt. v, FiSa T FERISRIR IIod FIa 3 doheiieh! Uq SUTfares Hierer & gfdraror
it o a¥ yR&9T fY 182

A) 1979
B) 1990
C) 2013
D) 2017

Ques # 66 (English)

Paramparagat Kirshi Vikas Yogana was started in India in the year-

A) 2013
B) 2015



C) 2017
D) 2018

Ques # 66 (Hindi)
R A AR F e Qe fa a¥ yresy gam?

A) 2013
B) 2015
C) 2017
D) 2018

Ques # 67 (English)

A continuous and cooperative activity, involving the local farmers and extension staff in which objective
of the work are set forth and action planned is known as

A) Programming

B) Planning

C) Programme planning

D) Programme planning process

Ques # 67 (Hindi)

TN framel vd RFaR siear garT iR T geaih afafaftat @ sa3 sdeg Fuivor & au
frafia &3 6 ufhar # #ga §-

A) FTIHA TAT]
B) SR JISTaT §=ATAT
C) FIRIHH FT ITAT TATe

D) SR IISTeTT delTel T UfshaT 39T

Ques # 68 (English)

Need based and skill oriented vocational training to field staff and to practising farmers is being
undertaken in the system of

A) Krishi Vigyan Kendra

B) National Demonstration

C) Lab to Land Programme

D) Jawahar Rozgar Yojana

Ques # 68 (Hindi)

favar Friwant va @fae el F 3a0F FTERTFATAR T FIRIEHE sqag1RF TRATOT Hladt
et # ferm S 82



A) F T e
B) ISERT We2reT
C) YIRS & TA doh

D) STarex AT Trotel

Ques # 69 (English)

Agricultural clinic is helpful to farmer for -

A) Testing soil sample

B) Testing irrigation water quality

C) Testing seed viability

D) Providing specialized guidence in writing

Ques # 69 (Hindi)

FY Felifars garr framat & fore weraar #ware-
A) HeT gHeToT HXdTe

B) TS SToT &Y [UTdcdlT I Sirel ahiaa]

C) ISt 37T & &THCT ATl el

D) fof@a & a9y ARt geia ¢ar

Ques # 70 (English)

Visual aid for tranfre of technology includes:

A) Audio teleconference
B) e - mail

C) Cultural programme
D) All of these

Ques # 70 (Hindi)

TY THTH GaRT dehellh! THR $T 7 §
A) 3T3Y - CellpTethied

B) s- Adl

C) HEPicieh HRIhHA

D) o1 & Tt

Ques # 71 (English)



Extension Education is related where

A) Audience is more or less homogeneous

B) Teaching is mainly vertical and curriculum centred
C) Teaching is mainly horizental and need based

D) Pre- planned and pre- decided

Ques # 71 (Hindi)
AR I8 T Geer & 381 1-

A) AT HAS- FOT GHET 8
B) fR¥eT sroerad Ud uraTsha 3menfa &r

C) fRvet &3t va 3aegehdl-Tar &
D) ATt 4a- foraieret @ qa el &t

Ques # 72 (English)
Method demonstration does not include-

A) Seed treatment with rhizobium culture
B) Use of improved variety seed

C) Taking soil sample for its testing

D) Budding in fruit plants

Ques # 72 (Hindi)
Efa e RAfYr & a7 wikar wenfaa adi &-

A) TSATaTH ok ¥ foaar
B) 3eolcl TohTH ol &Il 1A H ol
C) FeT IRETOT g AT ol
D) HelGR 9t 7 held o=

Ques # 73 (English)

The three characteristics of extension are -

A) Teaching- Informal- Felxible

B) Teaching - Formal- Voluntary

C) Teaching- Curriculum based- Compulsory
D) Teaching- Cooperation- Formal

Ques # 73 (Hindi)



YHR $1 et faeryane g-

A) Treor- 3AtgaTRes- orirelr
B) rg7o1- 3ituaries- Tafces
C) fre1or- UraTsha 3reiRd- 3ifaar
D) feretr- @gsnfarar- 3iaarie

Ques # 74 (English)

Match the list-1 with list -1l and select the appropriate code given belong the list.

List- | List-II
(A) Sender 1. Visuals
(B) Message 2. Encoding
(C) Channel 3. Intorpretation
(D) Receiver 4. Hard data
Codes:

A)ABCD2413
B) ABCD1324
C)ABCD3241
D)ABCD4132

Ques # 74 (Hindi)
gdl- | & - 1| 8 Fere 1 63 T #is & ITER @l fehed @
AT |
Hﬁ— | Hﬁr |

(31) U= 1. ¥

() He 2. i

(@) A 3.

(G) TcaeRdr 4,

&

o

1

A) ¥TTE2413
B) Ig§HE1324
C) ¥TTE3241
D) ¥THE4132

Ques # 75 (English)



The major difference between the innovation decision process and the diffusion process is that-

A) Innovation decision making takes place within the mind of an individual.
B) Innovation decision- making takes place with a group.

C) Innovation decision is adopted after rejection.

D) Innovation decision is a collection of learning experience.

Ques # 75 (Hindi)
oTarar fotr wftkar aur gaR F & 77 T I8 8 -

A) ITHAT AT ot & TTRIFR Teh &F T o AT 7 gl 8]
B) #TaTaR U ofet & 31TRIh R Teh g o T &Icll o

C) 3Tl o dTe AR 0TI =TT STl B

D) AR fUT HE=T Ueh 31737 T EHIE B

Ques # 76 (English)

National Bureau of Animal Genetic Resources is located at-

A) New Delhi
B) Anand
C) Lucknow
D) Karnal

Ques # 76 (Hindi)

TR Y SR el <3 Ferer -
A) o7 R

B) 3Teloq

C) d@>

D) &heATel

Ques # 77 (English)

Care of new born calf should include:

A) Colostrum feeding within one hour of birth

B) Dehorning and disbudding within 24 hours of birth
C) Noves cord cutting very close to ligature

D) All of these

Ques # 77 (Hindi)



TSI aBST Y SEATH H FFAToId FL-

A) SeH & Teh §¢ o 3~ e hlareeH Terrer

B) STe o 24 €< H 3gifarer T f3 a8eT gar

C) = A & 3TEUIT (TR & T e I1d & hreaAr
D) g4 & Tl

Ques # 78 (English)
Gaddi is a breed of -

A) Sheep
B) Swine
C) Goat
D) Buffalo

Ques # 78 (Hindi)

TsdY R g Y A1 87
A) #3

B) 3R

C) SR

D) &&

Ques # 79 (English)

Frozen semen is being stored at-
A) -169°C

B) -171°C

C) -196°C

D) -206°C

Ques # 79 (Hindi)
feefigra di =1 e aTeeTe W iR R S 87

A) -169° afcaaa
B) -171°afcaaw
C) -196° afcaaw
D) -206° aifcaad



Ques # 80 (English)

The breed evolved by crossing of Murrh and Surti breed of buffalo is-
A) Nili Ravi

B) Jafarabadi

C) Mahsana
D) Nagpuri

Ques # 80 (Hindi)

HYU TF AT AE Y T F HHIOT § 39T 7 8-
A) ATelT Irar

B) SITHRTSTST

C) HAgHTAT

D) =T

Ques # 81 (English)

Gumbora is a disease of which animal?

A) Chicken
B) Cow
C) Goat
D) Sheep

Ques # 81 (Hindi)

THART AF NARY Fraat ars aimelt 32
A) Tt

B) I

C) SR

D) &3

Ques # 82 (English)

FMD (Food and mouth) disease of cattle is a

A) Fungal Disease
B) Viral Disease

C) Protozoan Disease
D) Bacterial Disease



Ques # 82 (Hindi)
MR A e . & (R A & MW

A) BT & thelel aTel 19T
B) arIRA & theled aTell 19T
C) WICISI3TeT & Weled aTell 9T
D) SFEIRAT & el aTell 9T

Ques # 83 (English)
Ranikhet is a disease?

A) Viral

B) Bacterial
C) Fingal

D) Nematodal

Ques # 83 (Hindi)

AT 'F qeT B2
A) fasmoy Sifad

B) Sfaro] Sifeiet

C) ds SAfAd

D) AT STfaAc

Ques # 84 (English)

Which of the following is not a draught purpose bread of a cow?
A) Nagauri

B) Malvi

C) Amrit Mahal
D) Rathi

Ques # 84 (Hindi)
o F @ g Y Sl sTEer IRAFT Fat F T agi g

A) AT
B) HATedr
C) 31Hd Agel



D) T

Ques # 85 (English)
Which of the following breed of buffalo has the highest fat percentage?

A) Murrah
B) Bhadawari
C) Surti

D) Jaffarabadi

Ques # 85 (Hindi)
H i e sTEat F auT 1 AT AGA FATST gt 872

A) 7

B) $igralr
C) g

D) SIS

Ques # 86 (English)

Protein content in mustard cake is about-
A) 20%

B) 35%

C) 8%

D) 55%

Ques # 86 (Hindi)
AT Y ot A Fers7er N Y AT 8elY B

A) 20 gfaera
B) 35 ufaerd
C) 8 ufaera

D) 55 gfaerd

Ques # 87 (English)
is the best method of milking.
A) Fisting
B) Knuckling
C) Stripping



D) Knuckling and Stripping

Ques # 87 (Hindi)
g farerat iy wafeasr fAfr -

A) HZY STErERT
B) 379TaT eelTeht
C) geh gaTeht

D) 379[ST EaThT TUT Jeeh eaR]

Ques # 88 (English)

The carburetar is main part of Engine-
A) Diesel Engire

B) Steam Engine

C) Petrol Engine
D) Gas Engine

Ques # 88 (Hindi)
FREIET FoT FT HTA $1T &2
INEECESEED

B) HTT SofeT &l

C) UgIeT SteT
DEIGESCE

Ques # 89 (English)
Which weir is used to measure high discharge?

A) Rectangular weir
B) Trapezoidal weir
C) Triangular weir
D) None of these

Ques # 89 (Hindi)

o R & garT 3o Adee T smar @2
A) IIdRR dR7

B) FHFETPR AT



C) BumeR fawx
D) goTH & IS =Tel

Ques # 90 (English)

Water can be measured on volume basis if it is...

A) At rest

B) In motion

C) Atrest and In motion
D) None of these

Ques # 90 (Hindi)
qTeY I HTIAA & ATUR 9 ATIT ST bl § AT I8

A) TR e #
B) afeld 3T &
C) R 31w # vd aferd aer H gl
D) 373 & IS #Tel

Ques # 91 (English)
Open impeller is made by?

A) Mild steel

B) Castiron

C) Forged steel
D) Stainless steel

Ques # 91 (Hindi)

AT §FYe 1T YT 872
A) FIH ST FHT

B) T RN

C) BR<S EaTd

D) FeeAerd SEITd &1

Ques # 92 (English)

Which type of nozzle is most commonly used for herbicide application?

A) Flood jet



B) Flat fan
C) Solid cone
D) Centrifugal type

Ques # 92 (Hindi)

AT 78 TR &1 Alerer gTauTss IHTuaNeT & fov wad samer 39T fmar Srar 82
INEGERS [

B) welc thet

C) 31g A%

D) shegddR®

Ques # 93 (English)

Which of the following machine is not good for zero- till planting of crop under surface residue
condition?

A) Turbo happy seeder

B) Rotary disc drill

C) Double disc drill

D) Tyne opener zero till drill

Ques # 93 (Hindi)

fora=r F @ Fler At 7efler offdY it TaE W FHA F HTAY AT IrTEAT F e o IRwor F AT e gt
82

A) Tt godt g

B) el fea f3ar

C) =T 3T T3

D) TTEeT 39 SIRT fear f3e

Ques # 94 (English)

Drainage of 1 ha cm in 24 hours equals drainage of-

A) 1.157 Ips
B) 0.117 Ips
C) 2.7 Ips
D) 2 Ips

Ques # 94 (Hindi)



24 o H 1 gFeIT AAHT Y o AFRA & S giat g

A) 1.157 Ips
B) 0.117 Ips
C) 2.7 Ips
D) 2 Ips

Ques # 95 (English)

The ratio between area of crop irrigated and quantity of water applied crop is termed as?
A) Duty

B) Delta

C) Base period

D) Irrigation quotient

Ques # 95 (Hindi)
HHE I I 7T GHA & &7 AT qTef) 2 AT 3 i F ITTeT Y FIT FgT AT 82

A) 378

B) Secrl

C) 3R 3afer

D) &S T HRTH

Ques # 96 (English)
The wind velocity is measured by

A) Current meter
B) Hydrometer

C) Anemometer
D) None of these

Ques # 96 (Hindi)
8 I % EarT g1 F 39T FY AT AT §?
A) FIT HIX

B) g183I HleX

C) TAHAT Hex

D) o & IS =Tet

Ques # 97 (English)



Which harrow is also called *"bakhar"*

A) Disc harow

B) Spike tooth harow
C) Spring tooth

D) Blade harow

Ques # 97 (Hindi)
e g & s@R #fY Fgr STaT 87

A) fTEm r
B) @hTeT &1
C) Feser &y
D) seis 831

Ques # 98 (English)

The value of variable which occurs most frequently is called as-

A) Mean

B) Mode

C) Median

D) Weighted Mean

Ques # 98 (Hindi)

TR T AT S T SI1GT IR Ao &l §, FgelrdT &-
A) FTET

B) Tgo

C) HETH

D) HTRd ATET

Ques # 99 (English)

Variance is-

A) The square root of variation of values

B) The coefficient of variation of values

C) The reciprocal of mean of standard deviation
D) The square of standard deviation

Ques # 99 (Hindi)



ifeghrT faeror grar &-

A) AT Taelet &l JaTH

B) T3 &7 fReatar i+

C) HTeTeh faTeleT & HATET T G cAshel
D) HlIeh [adeleT &7 dar

Ques # 100 (English)

The relationship between Arithmetic mean (A), Harmonic mean (H) and Geometric mean (G), is
A) G*=AH
B) G=vA+H

C) H?’=GA
D) A?=GH

Ques # 100 (Hindi)

HFATOAT ATET (A), TcAF AT (H) 3 SAAT 7167 (G) F i a1 Faer gar 82
A) G*=AH

B) G=vA+H

C) H?!=GA
D) A?=GH

Ques # 101 (English)

The average of the absolute deviations taken from centrol value is called as

A) Mean deviation

B) Standard deviation

C) Coefficient of variation
D) Range

Ques # 101 (Hindi)
FET TEAT ¥ AT T ATIeT e & 3itad FY Fe1 S -

A) HATEY faerelel
SIGIGEACER]
C) Feetar e



D) HrAT

Ques # 102 (English)

When value of one variable changes while other variable remains constant, it is known as

A) Negative correlation
B) Direct correction
C) Positive correction
D) Independent

Ques # 102 (Hindi)
afe v TRl # deera g1aT § Toq g@ IRl 3eaid TedT1 ¢ o 36 dE & TFawy I Fegd &-

A) HUTcHS Hgaay
B) Irem Hgdey

C) UellcHS Tgaay
D) ¥

Ques # 103 (English)

If Q1 =5, Q2 =10 and Q3 = 20, the quartile deviation will be
A) 15

B) 25

C) 75

D) 30

Ques # 103 (Hindi)
It Q1=5, Q2 = 10 AYT Q3 = 20 § aY AU Farwreret gham

A) 15
B) 25
C) 75
D) 30

Ques # 104 (English)

Which of the following would you regard as discrete variable
A) Height

B) Time

C) Wages paid to workers

D) Number of children in a family



Ques # 104 (Hindi)
e & @ fFd 3T 3r9aq W AW

A) 315

B) §HY

C) FIGY T & 1S A
D) 9RaR & s<al $r g&

Ques # 105 (English)

Which of the following is best to show the percentage of the production of different crops in Rajasthan
during 2016-2017

A) Histogram

B) Ogive curve

C) Stem and leaf chart

D) Pie chart

Ques # 105 (Hindi)

fRArafaf@a & @ siaar R 2016-2017 # Ty & e By« & 3cures 1 yfara # g & Qv
Y gem-

A) fgEcrans

B) 3iTelisd &d

C) TeH TG ol [T

D) 9Ts a1c

Ques # 106 (English)

The mean of 20 observations is 25. What will be the mean of new set of observation, if 3 is added to each
observation.

A) 26

B) 28

C) 30

D) 32

Ques # 106 (Hindi)
IfE 20 EEaTt F ATET 25 &) I Ev wEAT # 3 ST SC At 7E S@aT F7 AT gEv-

A) 26



B) 28
C) 30
D) 32

Ques # 107 (English)

The coefficient of correlation between X and Y is 0.6, their covariance is 4.8. The variance of X is 9. Then
the standard deviation of Y is -

A) 4.8/3*%0.6

B) 0.6/4.8*3

C) 4.8*0.6/3

D) 4.8/9*0.6

Ques # 107 (Hindi)

IfE X AR Y F AET FEHEY IONF 0.6 §, IeThT WETHIT 4.8 I X HT THIOT 9 @Y Y Y F7 WATq faererer
qreT-

A) 4.8/3*0.6
B) 0.6/4.8*3
C) 4.8%0.6/3
D) 4.8/9%0.6

Ques # 108 (English)

In storage major pest of rice is

A) Cercyra Cepnolenica
B) Tribolium castaneum
C) Callosobruhus sp
D) Systole albipennis

Ques # 108 (Hindi)
AT A T ATl STUSRUT T YT HIC 3

A) HIREATSI FAwrei et
B) crsalfeidd dRcIid#
C) Foraigad

D) fa¥erier Teramifaa

Ques # 109 (English)

Pectinophora gossypilla is a pest of-

A) Cumin



B) Brinjal
C) Cotton
D) Spinach

Ques # 109 (Hindi)
Yo ReATPRT MR v oy He

A) SIRT
B) sareT
C) Hurd
D) dTeleh

Ques # 110 (English)

Heterorhabditis sp. Is used for control of

A) Rice stem bore
B) Pea leaf miner
C) White grub

D) Coriander aphid

Ques # 110 (Hindi)
Rty F1 A F S # sEaATaT g aT 8

A) YT ST BGh Shic
B) #HCX ollth ATSR
C) d%g [PIER

D) ﬂﬁmaﬁrm—g’

Ques # 111 (English)

Diamond back moth is a pest of

A) Cotton
B) Cabbage
C) Rice

D) Soybean

Ques # 111 (Hindi)
SIIHS A% ATY TF AT HT |



A) HUTE
B) Ucdranreft
C) arad
D) GrarEl

Ques # 112 (English)

Melanagromyza obtusa is a pest of

A) Red gram
B) Tomato
C) Potato
D) Mustard

Ques # 112 (Hindi)

ATTCAATS AT HECHT U U7 FIe ¢

A) 3TET
B) THTEX
C) 3Te]
D) |I&r

Ques # 113 (English)

Trichogramma chilonis parasitoid used for the control of

A) Bollworm of cotton
B) White fly

C) Aphid

D) Thrips

Ques # 113 (Hindi)
TIBHIATAT fFa o uiid) &1 sTATT fh T F fAI=0r 7 gar &

A) FUTH I T
B) Hthe, AFET

C) |1g
D) fIew

Ques # 114 (English)



Basillus thuringiensis is used for the control of

A) Diamond backmoth
B) Fruit sucking moth
C) Thrips
D) Aphids

Ques # 114 (Hindi)

IRH YRASNATIE T FEIAT e F AT A Qar |
A) 3IHS a& ATY

B) She @fehat AT

C) Rcw

D) HATg

Ques # 115 (English)

Yellow and Witches broom symptoms caused by
A) Viroid

B) Fungus

C) phytoplasma

D) Bacteria

Ques # 115 (Hindi)
qtet & dre 3R SgAT FaTor fRaes HRoT glar 82

A) TIIISS

B) das

C) WIScICelloH T
D) Sitaroy

Ques # 116 (English)

Rice tungro disease is caused by

A) A mixture of spherical and flexous viruses.
B) A bacilliform virus alone.

C) A mixture of bacilliform and flexous virus.
D) A mixture of spherical and bacilliform virus.

Ques # 116 (Hindi)



ATl T IR AT Fra erelr 87

A) INETRR IR FeIh 4 FawTo] T Teh fAsmoT
B) 37ehel Teh SfHelwIR# fawroy

C) SfANPRA 3R Forrfaad Aoy 1 U AT
D) INelrehR 3T SRR fawTo] o1 Teh fasor

Ques # 117 (English)

an example of autoecious rust is

A) Stem rust of wheat
B) Bajra rust

C) Apple rust

D) Linseed rust

Ques # 117 (Hindi)
v g T T 3aTeRor B

A) 9 T T fohg
B) TSR &1 fohg.
C) &« &1 forg

D) 3t T fohg.

Ques # 118 (English)

Aflatoxins are produced by

A) Alternaria burnsii

B) Fusarium graminearum
C) Cladosporium spp.

D) Aspergillus flaxus

Ques # 118 (Hindi)
TFATRIFE fFad gaRT Seatfed g 872

A) 3o RIT =118
B) WSz AfATARH
C) FSIEuIRIA afa
D) THWRTSTT Felehd



Ques # 119 (English)

Sclerotia are formed in which fungus
A) Pythium

B) Claviceps

C) Physoderma

D) Rhizopus

Ques # 119 (Hindi)
THANTAAT 5T g H To1d ¢

INRUERE
B) &adrauyd
C) HIZAEAT
D) TSI

Ques # 120 (English)

Which fungicide is used for control of downy mildew.

A) Karathane
B) Ridomil MZ
C) Thiram

D) Captan

Ques # 120 (Hindi)
AR ey i @ waw anft & R B smarg?

A) HITAT
SEREIGERGEE

C) ursA
D) &hteled
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